
 

 

                                                   myF 1   epiykpd;dpay;               gapw;rpj; jhs;  – 1 

   1. mr;Rf;NfhL: 

        glk;:   

 

        tpsf;fk;:  

 

 

 

        𝐸⃗ +   =                                                                                                  𝐸⃗ -   =  

 

       Nkw;nghUe;Jjy; jj;Jtj;jpd;gb,     𝐸⃗  total =    

 

          𝐸⃗  total =                                                                                              𝑝   = 

 

   

2.  eLtiuf;NfhL: 

       glk;:                                                                                                     tpsf;fk;: 

 

 

 

 

 

    

       

     𝐸⃗  total =                                                                                               

 

     │𝑬⃗⃗ + │ =  │𝑬⃗⃗ - │=   

 

     cos θ =  

 

     𝐸⃗  total =                                                                                                  𝑝  =             

 

 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


 

 

 

      3.  kpd;,UKidahy; xUGs;spapy; kpd;dOj;jk;: 

        glk;:                                                                                                         tpsf;fk;: 

 

 

 

 

 

 

    

      V1 =                                                                       V2 =  

 

      V =                                                                      V =  

 

    ∆ BOP,   nfhird; tpjp                                                                                     
1

𝑟1
=               

 

    ∆ AOP,  nfhird; tpjp                                                                                      
1

𝑟2
=                

 

     V =                                                                                                             p =  

 

   4.  fh]; tpjp:  kpd;Dhl;lk; ngw;w Kbtpyh ePsk; nfhz;l fk;gp: 

         fh]; tpjp :  ΦE =       

         glk;:   

 

 

 

 

 

 

            ΦE =    

            E.                              =     

            

            E =                                                                                                          𝐸⃗   = 
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                                                   myF 1     epiykpd;dpay;             gapw;rpj; jhs; - 2  

5.    fh]; tpjp:   Nfhsk;: 

              fh]; tpjp :  ΦE =       

            Nfhsj;jpw;F ntspNa cs;s Gs;spapy;l:      𝐸⃗   =   

 

            Nfhsj;jpd; kPJs;s Gs;spapy;:              𝐸⃗   =    

 

            Nfhsj;jpd; cs;Ns cs;s Gs;spapy;:        𝐸⃗   =          

 

    6.   kpd;fhg;G cs;s kpd;flj;jp:   kpd;fyk; Jz;bf;fg;gl;Ls;s NghJ: 

            1. kpd;Dhl;lk;:                                                      Q =  

 

            2. kpd;dOj;jk;:                                                    V = 

 

            3. kpd;Gyk;:                                                            E = 

 

            4. kpd;Njf;Fjpwd;:                                              C = 

 

            5. Mw;wy;:                                                              U =      

 

     7.  kpd;Njf;fpfs; njhlhpizg;G                                                      kpd;Njf;fpfs; gf;f ,izg;G 

          1.                          -  khwhJ                                                                   1.                                        – khwhJ 

                                       - khWk;                                                                                                                   - khWk; 

 

          2.  V =                                                                                                       2. Q =     

  

          3.  V =                                                                                                      3.  Q =  

 

         4.  Cs  vd;gJ njhFgad; kpd;Njf;Fjpwd;                                   4.  CP  vd;gJ njhFgad; kpd;Njf;Fjpwd;    

              vdpy;,      V =                                                                                             vdpy;,      Q =   

 

         5. 
1

𝐶𝑆
   =                                                                                                    5.  CP  =     
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  8. thd; b fpuhg; kpd;dpaw;wp: 

        cUthf;Fk; kpd;dOj;j NtWghL  =  

 

         jj;Jtk;: 1.                                                                                   2.  

         glk;:                                                                                                tpsf;fk;: 

 

 

 

 

 

 

 

 

 

 

       Ntiy nra;Ak; tpjk;:     

        rPg;G D f;F mUfpy; :                                                                                     fhuzkhf  

                           kpd;Dhl;lq;fs;                         Nehf;fp tpul;lg;gLfpd;wd      kw;Wk;                                       

                            kpd;Dhl;lq;fs;                         Nehf;fp ftug;gLfpd;wd.  

        rPg;G  E f;F mUfpy;:                                                                                            fhuzkhf 

                                                               kpd;Dhl;lq;fs; E ,y; Jhz;lg;gLfpd;wd. 

                                                               kpd;Dhl;lq;fs; Nfhsg; gug;gpy; rPuhfg; guTfpd;wd.  

        frpitf; Fiwf;Fk; tpjk;:              

 

         gad;:                                                                                                                     

          

.         Gj;jf xU kjpg;ngz; tpdhf;fis ed;F gbf;fTk;. 

       ***  epiy kpd;dpaypy; $Yhk; tpjp:       F =  

         epiy kpd;dpay; tpirahdJ                                                                                                  f;F Neh;j;jfT                                                                                                          

                                                                                                                                                               f;F vjph;j;jfT. 

          <h;g;gpay; tpirahdJ                                                                        f;F Neh;j;jfT                                                                                                     

                                                                                                                                                            f;F vjph;j;jfT 

           epiykpd;dpay; tpir                                                         rhh;e;jJ.      <h;g;gpay; tpirahdJ                            

                                                                                                                                       rhh;e;jJ my;y.                       
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                                     myF  2  kpd;Ndhl;ltpay;                gapw;rpj; jhs; –  1 

   1. Xk; tpjp  - Ez; tbtk;  

        glk;:                                                                                          tpsf;fk;: 

 

 

 

 

 

       Vd =                                                                        dQ = 

       I =                                                                              J =                                     =        

 

       𝐽  =                                                                            𝐽  =                                    𝜎  vd;gJ  

 

    2. Xk; tpjp - gad;ghl;L tbtk; 

          glk;:                                                                                            tpsf;fk;: 

 

 

 

 

 

 

           E =                                                                 J =                             =  

           NkYk;       J =  

           V =              (                           )    =                               ,q;F  R =                             vd;gJ                        

 

     3.  kpd;fyj;jpd; mf kpd;jil -  Nthy;l;kPl;lh; 

           jpwe;j Rw;W:                               fhl;Lk; msT                                                      MFk;. 

           %ba Rw;W:                                             f;F FWf;Nf kpd;dOj;j NtWghL                                         

                                                                                       f;F FWf;Nf kpd;dOj;j NtWghl;bw;Fr; rkk;.    

         V =                                                                             

         

         ε – V =  

        

         1 /  2,                       r =  
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      4.   kpd;jilfs; njhlhpizg;gpy;                                                        kpd;jilfs; gf;f ,izg;gpy; 

         1.                                   –   khwhJ.                                                          1.                                                     – khwhJ. 

                                               - khWk;                                                                                                                         - khWk; 

         2. V =                                                                                                           2. I =  

 

         3. V =                                                                                                           3. I =  

 

         4. RS  vd;gJ njhFgad; kpd;jil                                                    4.  RP  vd;gJ njhFgad; kpd;jil 

            vdpy;,  V =                                                                                                      vdpy;,  I =   

        

         5. RS =                                                                                                        5. 
1

𝑅𝑃
  =  

 

 

 

 

 

 

 

   5.  kPl;lh; rkdr; Rw;W: 

         glk;: 

 

 

 

 

 

 

 

         tha;g;ghL:   njhpahj kpd;jil: 

           
𝑃

𝑄
  =              =                                                                                   

𝑃

𝑄
  =                                                            

                                 

                            P =  

 

        kpd;jil vz;:            ρ =       
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                                                 myF  2       kpd;Ndhl;ltpay;              gapw;rpj;jhs;  – 2 

     6. tPl;];ld; rkdr; Rw;W: 

          glk;:                                                                                                 tpsf;fk;: 

 

 

 

 

 

 

  

 

         fph;r;rhg; Kjy; tpjp:  re;jp  B:                                                                                 

                     

                    re;jp  D: 

 

         fph;r;rhg; ,uz;lhk; tpjp:  ABDA: 

 

                    ABCDA: 

                                                                           

                                                                         = 0 

 

            I1 P =                                               

           

           I3 Q =            

             

            rkepiyf;fhd epge;jid:  

                                             

    7. kpd;dpaf;F tpir xg;gPL:  kpd;dOj;jkhdp  

           glk;:                                                
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         Kjd;ik Rw;W:  

 

 

         Jiz Rw;W: 

 

 

 

 

 

 

        ε 1 =                                                         

 

       ε 2  =                                               

 

       
𝜀1

𝜀2
  =   

 

    8. kpd;fyj;jpd; mfkpd;jil:  kpd;dOj;jkhdp 

         glk;:    

 

        

 

 

 

 

 

            ε α                                 → 1                                

 

          
𝜀𝑅

𝑅+𝑟
 𝛼                             → 2 

  

     1 / 2                     

 

                                    r =  R    (                                                                                                                                     
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